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M 20,086 100.0 50.6 11.9 2.2 35.3
M2 3,565 17.7 50.5 11.6 2.0 36.0
Ak 1,330 6.6 48.2 12.4 1.8 37.6
o7 976 49 47.8 13.1 2.2 36.9
oA 1,180 5.9 514 11.7 1.9 349
3F 572 2.8 52.5 11.2 2.9 334
o 573 29 52.7 11.4 2.2 337
=4t 475 24 53.7 10.4 1.6 344
M 126 0.6 59.4 9.6 2.0 29.0
47| 5,244 26.1 52.5 11.9 2.1 335
Z¥ 609 3.0 498 12.2 2.6 35.4
5 625 3.1 52.0 11.8 24 339
s 800 40 50.6 11.9 24 35.0
HE 688 34 496 11.5 2.9 35.9
My 685 34 476 11.3 2.6 385
35 1,035 5.2 47.0 12.0 2.3 38.7
4 1,346 6.7 491 12.4 2.1 36.3
NS 259 1.3 48.6 13.8 2.9 34.8
=Xt 10,084 50.2 58.4 13.7 2.7 25.1
o Xt 10,003 49.8 428 10.0 1.6 456
40-44M| 3,758 18.7 58.0 95 2.1 304
45-49M| 4,195 20.9 55.9 11.2 2.6 30.3
50-54A 4,246 21.1 53.1 124 2.5 320
55-59A| 4,092 20.4 476 13.3 2.1 37.1
60- 64A1| 3,795 18.9 38.1 12.8 1.5 47.6
TEAOIS 11,623 57.9 46.6 10.2 1.8 413
FEAUS 8,464 42.1 56.2 14.1 2.6 27.0
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3 100.0 100.0 395 19.1 8.3 33.1
M 11.2 100.0 39.7 19.0 7.8 33.5
Ak 6.9 100.0 38.7 19.6 75 34.2
CH 5.9 100.0 382 20.0 336
oIH 6.4 100.0 40.1 19.1 33.0
aF 45 100.0 40.1 18.5 32.0
CH 45 100.0 40.5 18.9 32.4
=4t 40 100.0 415 18.2 33.2
ME 2.1 100.0 438 17.6 30.6
47| 13.6 100.0 40.4 19.2 323
g 47 100.0 38.9 19.3 32.8
5= 47 100.0 40.1 19.1 323
sd 5.3 100.0 39.5 19.1 32.8
ks 5.0 100.0 3858 18.7 33.0
He 5.0 100.0 382 18.6 343
845 6.1 100.0 38.0 19.2 34.5
ae 6.9 100.0 38.9 19.6 33.5
(S 3.1 100.0 38.1 20.3 32.3
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<H4> 2Xt HiE S8 HE=HIZ
o s _ DEHEN(Y)
23 H| = Ad=+HAE  LR2IgS
= 200,000 71,606 38,649 24,294 65,451
ME 22,414 8,098 4,288 2,638 7,390
4t 13,721 4,886 2,689 1,578 4,568
i 11,849 4,182 2,386 1,365 3,916
oIH 12,890 4,664 2,422 1,563 4,241
aF 9,065 3,226 1,715 1,192 2,932
o 8,994 3,259 1,724 1,089 2,922
=4t 8,072 3,001 1,498 913 2,660
ME 4,145 1,617 734 507 1,287
47| 27,239 9,866 5,208 3,375 8,790
AR 9,375 3,305 1,856 1,155 3,059
5 9,434 3,424 1,820 1,159 3,031
e 10,695 3,817 2,060 1,335 3,483
e 9,975 3,503 1,926 1,273 3,273
e 9,927 3,436 1,896 1,235 3,360
4= 12,182 4,296 2,410 1,431 4,045
a4 13,856 4,907 2,751 1,650 4,548
(B 6,167 2,119 1,266 836 1,946
= A A= HZ | d3+HIda | Lxt2|el=
_oE H| & (%) 100.0 39.5 19.1 8.3 33.1
HES(A)
= H| & (%) 100.0 35.8 19.3 12.1 327
HE=(B)
B/A 1.000 0.906 1.010 1.467 0.989
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o (FIATFE) STHUE ERAE ¢oF HIF F T BEF
g AlsFE
o (F2424%) e 8 FEGEAJA A, A, FELFAR dEAE
BT EEo} Aol7} 2A U
<H6> HE E=F
(B3 F, %, %p)
= XlC H
T =id HI 2 (A) e H2E) | BA
M= 20,086,445 100.0 200,000 100.0 0.0
M2 3,564,564 17.7 22,414 11.2 -6.5
4k 1,329,755 6.6 13,721 6.9 0.2
CH = 975,805 49 11,849 5.9 1.1
oI 1,179,990 5.9 12,890 6.4 0.6
JF 572,104 2.8 9,065 45 1.7
CH 573,110 29 8,994 45 1.6
=4t 474,634 24 8,072 4.0 1.7
MZ 126,027 0.6 4,145 2.1 1.4
A= 47 5,244,066 26.1 27,239 13.6 -12.5
Pag 608,745 3.0 9,375 47 17
3= 624,820 3.1 9,434 47 1.6
=] 799,724 4.0 10,695 5.3 14
HE 687,696 34 9,975 5.0 1.6
e 685,378 34 9,927 5.0 1.6
45 1,035,466 5.2 12,182 6.1 0.9
a4 1,345,519 6.7 13,856 6.9 0.2
NES 259,042 1.3 6,167 3.1 1.8
g 10,172,930 50.6 71,606 35.8 -14.8
nasg | %S 2,384,479 119 38,649 193 75
°° AZ+HRF 435,643 2.2 24,294 12.1 10.0
UR2| Rt 7,093,393 35.3 65,451 32.7 -2.6
d =Xt 10,083,734 50.2 102,823 51.4 1.2
° O X} 10,002,711 49.8 97,177 48.6 -1.2
40-44M| 3,758,298 18.7 35,795 17.9 -0.8
45-49M| 4,195,327 20.9 41,708 20.9 0.0
A 50-54A 4,245,683 21.1 42,842 21.4 0.3
55-59A 4,091,920 204 41,371 20.7 0.3
60-64A 3,795,217 18.9 38,284 19.1 0.2
ZeEd = 11,622,822 57.9 113,048 56.5 -1.3
29 UAS 8,463,623 42.1 86,952 435 1.3
* N2YE| Bl FEIAFE 194 J|E
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=2] dHESE =58
BHE £ (1,000%) [P] BEES @) [5] £E8 (%) [f=S/P]

ENCEE iy EENTHE e by KE AT il b
M2 | 1,800 412 701 1283 8098 4288 2638 7390| 045 1.04] 379 058
g4t 640 165 24 500| 4886| 2689| 1578| 4568 0.76/ 1.63] 6.50] 0091
o=+ 466 128 21 360| 4,182| 2386| 1365 3916] 0.90 1.86] 6.40/ 1.09
oI 607 138 23 412| 4664 2422 1,563| 4241 0.77] 176 6.83 1.03
JFF 300 64 16 191 3226| 1,715| 1,192 2932| 1.07| 2.67| 723 153
CH 7 302 65 12 193] 3259| 1,724| 1,089 2922| 1.08/ 2.63] 878 1.51
=4 255 49 8 163| 3001| 1498 913| 2660| 1.18 3.04] 12.16) 1.63
NZ 75 12 3 36| 1,617 734 507| 1287| 2.16| 6.05] 20.09] 3.53
Z7| | 2753 624 111 1,756 9866| 5208| 3,375| 8790 0.36/ 083 3.03] 0.50
Z& 303 75 16 215 3,305| 1,856| 1,155| 3,059| 1.09] 249 7.24| 142
5 325 74 15 212| 3424\ 1,820| 1,159| 3,031 1.05| 247 7.83 143
s 405 95 191 280 3817 2060| 1,335| 3483| 0.94] 2.16] 6994 124
HE 341 79 20 247( 3503 1,926| 1273| 3273] 1.03 243 6.38] 1.32
M 326 77 18] 264| 3436| 189 1,235 3360 1.05| 245 687 1.27
a5 487 124 24| 401| 429 2410| 1431| 4045 088 195 6.02] 1.01
4 661 167 28| 489| 4907| 2751| 1,650| 4548 0.74] 164 583 0093
HZ= 126 36 7 Q0| 2119| 1,266 836| 1946| 1.68 3.55| 11.27| 2.16
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